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SRIEZHTERL I=dES 0.93 0.92 100 98 1.02 100 98 2 2
RISt = 1.08 1.01 25 24 1.03 24 23 0] 0]
SRIEZHTRL kL 0.72 0.67 16 18 0.90 17 17 1 0
SRIEEoHTERL EEX 1.12 1.22 14 10 1.34 10 10 0] 0
SRIEEoRTRL 5B 0.94 1.00 19 13 1.50 12 12 0] 0]
SRR} Rl L 1.27 1.04 37 34 1.07 35 34 1 1
SRIBEOMAR} INZ] 0.69 0.82 36 51 0.70 52 50 3 2
SRIEZHTERL NI 0.39 0.36 14 26 0.54 25 24 2 1
SRIEESHTERL & 0.61 0.80 14 14 1.01 14 13 0 0]
SRIEEHTERL &l 1.26 1.24 21 18 1.19 18 17 0] 0]
SRIBEZIAR} iR 0.86 0.77 22 25 0.87 25 24 1 1
SRIEESHTERL =% 0.67 0.96 17 18 0.96 18 17 1 0
SRIEEOHTERL a0 1.00 0.98 93 92 1.01 95 94 2 2
SRIBZINE} | 1.25 0.91 13 15 0.88 15 14 0] 0]
SRIEEOHTEL RlF 0.85 0.93 24 25 0.97 24 23 1 1
SRIEZHTERL AE 0.60 0.71 27 33 0.83 33 32 1 1
SRIEZHTERL N 1.02 0.71 18 21 0.84 21 20 1 1
SRIEESHTERL =I5 0.76 0.65 18 20 0.88 20 20 1 1
SRIBEZIAR} BRE 0.89 0.80 23 30 0.77 30 29 2 1
SRIEEHTERL Pt 1.03 1.32 32 24 1.34 26 26 0] 0]
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ERRIRE timE 0.63 0.51 22 27 0.80 27 26 2 2
EEARIRE EES 1.15 1.18 8 7 1.21 6 6 0 0
ERARIRE =F 0.90 0.98 7 6 1.09 6 6 0 0
ERARIRE =ik 1.11 0.87 16 11 1.41 12 11 0 1
ERARIRE FXH 1.41 1.73 10 5 1.86 5 5 0 0
FRARIRE L 0.43 0.60 4 6 0.70 6 5 1 0
ERARIRE RE 0.59 0.62 6 9 0.63 9 9 1 1
FRARIRE Rk 0.55 0.53 7 14 0.49 15 14 2 1
ERRIRE AR 2.05 1.14 13 10 1.33 10 10 0 1
FRARIRE 55 1.19 1.32 14 10 1.43 10 10 0 0
FRRIRE BE 0.53 0.73 24 34 0.70 36 36 4 3
ERARIRE TE 0.77 0.75 20 30 0.66 31 31 3 2
ERARIRE RR 1.59 1.47 119 67 1.78 70 71 -1 2
ERRIRE I 0.80 0.99 41 44 0.94 46 46 4 3
ERRIRE 310 0.82 0.56 13 12 1.12 11 11 1 1
ERRIRE =21 1.88 1.49 7 5 1.29 5 5 0 0
ERRIRE alll 0.69 0.42 4 6 0.70 6 6 0 0
EEARIRE =aH 1.04 0.45 4 4 1.03 4 4 0 0
FRARIRE WES 0.76 0.80 4 4 0.96 4 4 0 0
ERARIRE RE 1.09 1.49 21 11 1.94 11 10 -1 0
ERARIRE 5z 52 0.85 1.05 10 10 1.00 10 10 1 1
ERRIRE GEdna) 0.69 0.74 20 18 1.09 18 18 1 1
ERRIRE 20 0.75 0.64 32 37 0.86 38 38 3 3
ERRIRE ==c 0.32 0.22 4 9 0.45 9 9 1 1
ERRIRE WE 0.56 0.95 4 7 0.60 7 7 1 1
ERARIRE R 0.91 0.79 9 13 0.69 13 13 2 1
FRARIRE ABR 0.93 1.03 46 44 1.05 44 43 3 3
ERARIRE FE 0.47 0.55 14 27 0.51 28 27 3 2
ERARIRE = 0.74 0.97 9 7 1.33 7 6 0 0
ERARIRE FOFRW 1.12 1.01 5 5 1.01 5 5 1 0
ERRIRE SHX 0.55 0.75 4 3 1.38 3 3 0 0
ERRIRE SR 0.99 0.89 3 4 0.85 3 3 0 0
ERRIRE e Ly 2.12 2.17 19 10 1.98 10 9 -1 0
EEARIRE L5 0.90 0.76 12 14 0.84 14 14 1 1
ERARIRE e 0.66 1.19 11 7 1.53 7 7 0 0
ERARIRE 8 0.54 0.54 3 4 0.78 4 4 0 0
ERARIRE &l 1.07 0.90 4 5 0.81 5 5 0 0
FRRIRE Big 0.93 1.00 4 7 0.57 7 7 1 1
ERARIRE = 1.34 0.56 2 5 0.41 5 5 1 0
ERARIRE f&ahd 0.99 0.87 27 26 1.05 26 26 2 2
FRARIRE =] 0.27 0.22 2 4 0.49 4 4 1 0
ERRIRE =I5 2.17 3.05 18 7 2.62 7 6 -1 0
FRARIRE fg 0.49 0.45 3 9 0.33 9 9 1 1
ERARIRE A 0.50 1.79 5 6 0.84 6 6 1 0
ERARIRE =5 0.48 0.29 2 6 0.35 6 5 1 0
ERARIRE BES 0.72 0.78 8 8 0.96 8 8 0 0
FRRIRE i 1.15 0.69 8 7 1.20 7 7 0 1
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BEF tEE 0.53]  0.56 118 196]  0.60 195 189 14 0
BEF =5 0.78]  0.62 39 47 0.82 46 43 2 2
BEH =T 0.47]  0.66 25 46| 0.55 44 42 4 2
BEF = 0.82] 0.72 53 81 0.65 82 81 6 4
BaH Tk 0.29]  0.27 20 39] 052 36 34 3 2
BEF L 0.48]  0.55 28 41 0.69 39 37 3 2
BEH & 048]  0.51 38 68|  0.56 66 64 6 4
BEF I 0.58]  0.66 68 102]  0.66 104 102 7 5
BEF A 0.88]  0.76 63 70]  0.90 71 69 3 3
BEr B 0.84] 0.88 55 70[  0.79 71 69 4 3
BEH BE 0.75]  0.80 197 246]  0.80 258 257 15 13
Baw T 0.97 1.01 201 216]  0.93 224 223 9 9
BaH =R 1.24]  1.23 609 476]  1.28 499 508 1 12
BaH el 1.01 1.12 325 313 1.04 327 329 11 12
BEF B 0.47]  0.47 40 83| 0.8 81 77 7 5
BEH I 0.50]  0.55 24 39] 062 38 36 3 2
BEH Alll 0.78]  0.86 32 41 0.78 41 40 2 2
BEF & 1.62] 195 42 28 1.51 28 27 -1 0
BEF L5 0.73]  0.79 25 30 084 30 29 1 1
BEH =] 1.11 1.03 80 77| 1.04 77 75 3 3
BaH I 0.58] 0.68 44 71 0.62 71 68 5 4
BEF e 0.58]  0.53 80 131 0.61 131 128 9 7
BaH FAl 0.64]  0.58 167 266]  0.63 274 273 20 6
BEH == 0.40]  0.49 26 64| 0.41 63 61 6 4
BEH aE 0.96]  1.06 34 48] 0.71 50 50 3 3
BEF R 18] 1.22 127 93] 1.37 94 92 -1 1
BEH N 1.16]  1.03 324 314 1.03 317 310 10 1
BEF RS 0.85]  0.79 178 195]  0.91 198 193 8 8
BaH = 1.05 1.31 40 48] 0.83 48 46 2 2
BaH AL 1.02]  0.99 33 36] 0.93 35 33 1 1
BEF B 0.36]  0.51 18 21 0.87 20 20 1 1
BEF BiR 0.70] _ 0.76 30 25 1.19 24 23 0 1
BEF L 1.04]  1.22 86 69 1.25 68 67 0 1
BEF L& 0.67]  0.67 71 102]  0.70 102 100 6 5
BEH M= 0.62] 062 26 51 0.51 49 47 4 3
BEr & 0.69]  0.69 21 28] 0.76 27 26 1 1
BaH &l 0.64] 044 18 35] 0.5 35 33 3 2
BaH TIE 0.39] 0.4 28 50|  0.55 49 47 4 3
BEH Bl 118 1.20 25 35| 0.7 35 33 2 2
BEH el 0.92]  0.91 139 183  0.76 188 186 12 9
BEF e 1.04]  1.08 29 29| 0.99 29 28 1 1
BEF Ei5 0.76]  0.63 38 49| 0.77 48 45 2 2
BEF e 1.15]  0.85 51 65  0.79 65 63 3 3
BEH ) 0.49]  0.55 31 43 0.72 42 40 3 2
BEr =iE 0.70] _ 0.76 31 41 0.76 40 39 2 2
BaH ERS 0.78]  0.80 62 60|  1.04 59 57 1 2
BEH i 1.80]  1.52 74 48] 1.55 51 52 - 1
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AR timE 0.80 0.71 146 216 0.68 224 222 12 9
AR EES 0.41 0.47 24 53 0.46 53 51 4 2
RS =F 0.58 0.64 27 51 0.53 51 49 3 2
AR =y 0.96 1.00 85 88 0.97 92 94 3 2
RS ES K 0.32 0.28 14 44 0.32 43 47 4 2
AR L 0.47 0.41 19 46 0.41 46 44 3 2
AR LES] 0.76 0.61 43 75 0.57 76 75 5 3
AR Rk 0.58 0.50 53 110 0.48 116 117 8 6
B EL AR 0.87 0.77 65 75 0.87 79 79 2 2
AR 5355 0.45 0.44 30 77 0.39 81 81 6 4
AR HE 0.74 0.72 174 261 0.67 288 294 16 11
AR FiE 0.88 0.80 177 233 0.76 253 256 12 9
B RR 1.84 2.00 1,095 491 2.23 525 543 -49 -18
AR I 1.02 1.05 296 335 0.88 364 372 14 12
AR ik 0.46 0.44 43 92 0.47 93 91 7 4
AR 21 0.68 0.59 31 42 0.73 43 42 2 1
AR alll 1.17 1.08 48 45 1.08 46 46 1 1
AR faH 0.51 0.48 16 31 0.52 31 31 2 1
RS EL WES 0.63 0.57 16 33 0.49 34 34 3 2
AR RE 1.05 1.04 77 86 0.90 88 88 3 2
B I & 0.34 0.39 29 78 0.37 80 79 7 4
AR GEdna) 0.81 0.83 121 144 0.84 150 149 5 4
B 20 0.52 0.67 206 299 0.69 321 325 17 2
AR ==c 0.25 0.27 22 69 0.32 71 70 6 4
B EL WE 0.76 0.77 33 51 0.65 55 56 3 2
B EL RER 1.02 0.97 93 100 0.93 105 105 3 2
RS EL N 1.10 1.16 397 343 1.16 360 358 3 5
AR T 0.98 1.05 190 211 0.90 223 223 7 6
B = 0.68 0.70 43 53 0.81 56 55 2 2
B FOFRLL 0.46 0.52 23 39 0.58 40 38 2 1
AR S 0.34 0.36 11 23 0.48 23 23 2 1
B EL SR 0.65 0.63 20 29 0.69 29 28 1 1
AR fELL 1.24 1.17 86 75 1.14 77 77 1 1
AR L5 0.61 0.58 63 110 0.57 114 113 8 5
RS EL e 0.35 0.32 19 57 0.33 57 55 5 3
AR 8 1.17 1.04 33 31 1.06 31 30 0 0
B EL &l 1.08 1.04 37 39 0.95 40 39 1 1
AR 2R 0.83 0.75 44 56 0.78 57 56 3 2
AR = 1.12 0.92 22 39 0.56 40 39 3 2
B f&ahd 1.17 1.13 231 195 1.19 207 209 1 3
AR =] 0.72 0.70 24 32 0.75 33 33 1 1
AR =I5 1.14 1.16 52 54 0.97 54 53 2 2
RS EL i 0.48 0.51 36 71 0.51 73 72 5 3
AR A 0.72 0.85 36 47 0.76 48 47 2 2
FRRSE =G 0.50 0.52 19 45 0.42 46 45 3 2
B BES 0.53 0.51 33 66 0.50 67 66 5 3
B e 1.18 0.98 52 49 1.07 54 57 1 1
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UNEUT—23 08 | JeiEE 0.86 0.86 117 136 0.86 142 142 6 4
DN\EUT—23 8 | BH% 0.34 0.38 16 33 0.48 33 32 2 2
JNeETF—o3vf | B8F 0.43 0.61 20 32 0.63 32 31 2 1
DN\EUT—23 8| =i 1.41 1.21 54 55 0.99 58 59 1 1
UNEUTF—23 08| FKE 1.03 0.91 19 28 0.69 27 26 1 1
DNEUTFT—23 08| 1L 0.53 0.49 14 29 0.48 29 28 2 1
DNEUTFT—23 8| B8 0.27 0.32 17 47 0.36 48 47 4 3
DNEUT—23 08| FRip 0.53 0.51 36 70 0.52 74 75 5 3
UNEUT—23 8| AR 0.73 0.83 58 47 1.22 50 51 1 1
JNEUT—23 08 | B35 0.92 0.98 38 49 0.78 51 52 3 2
DN\NEUTF—23 8| BE 0.65 0.68 118 168 0.70 187 191 11 8
JNEUT—3 8| FE 0.96 0.90 153 147 1.04 161 164 5 5
DA\EUTF—23 8| BR 1.29 1.37 4517 306 1.47 330 340 -4 3
DN\EUT—23 8 | #El| 0.89 0.93 184 208 0.88 229 235 8 7
DN\EUTFT—23 8| 8 0.58 0.61 39 58 0.67 59 58 4 2
UNEUT—23 08| BIU 0.83 0.87 28 27 1.04 28 27 1 1
UNEUT—23 8| Al 1.18 1.00 29 28 1.02 30 30 1 1
DN\EUT—23 8 | &H 1.05 0.97 19 19 0.98 20 20 1 1
DNEUT—23 08| U3 1.13 1.32 22 21 1.05 22 22 1 1
DA\EVTF—23 08 | BE 0.70 0.72 40 54 0.74 56 56 3 2
DN\EUTF—23 8| IKE 0.46 0.45 20 48 0.41 50 50 4 2
UNEUT—23 8| & 1.00 0.97 96 90 1.06 95 95 2 2
UNEUT—3 08| 2B 0.86 0.96 178 193 0.92 208 212 8 7
DNEUTFT—23 08| =8 0.61 0.66 29 44 0.66 45 45 2 2
UNEUT—23 08| HE 1.04 0.87 37 32 1.16 35 36 1 1
UNEUT—23 8 | RER 1.08 1.23 93 63 1.48 67 67 -1 1
DNEUT—23 08| Kk 1.21 1.18 247 198 1.25 211 211 3 5
JNEUT—3 8| &EE 0.95 0.98 140 133 1.05 141 143 4 3
UNEUT—23 8| & 1.38 1.28 48 33 1.46 35 35 0 0
DNEUTF—23 8 | FOFRL 1.63 1.45 30 25 1.22 25 24 0 0
DNEUTFT—23 08| BE 1.55 1.31 22 15 1.49 15 15 0 0
UNEUT—23 08| BB 1.49 1.71 33 18 1.80 18 18 -1 0
UNEUT—23 08| FEI 1.70 1.46 53 47 1.12 49 49 1 1
DN\EVT—23 8| LB 0.83 0.95 70 69 1.01 73 73 2 2
UNEUTFT—23 08| WO 1.04 1.01 35 36 0.99 36 35 1 1
JN\EUT—23 8| & 0.86 1.31 26 20 1.33 20 19 0 0
UNEUTF—23 8| Bl 0.82 0.68 17 24 0.70 25 25 2 1
DNEUTFT—23 8| BE 1.25 1.16 38 36 1.07 36 36 1 1
DN\EUT—23 8| 5 1.14 0.96 15 24 0.61 25 25 2 1
UNEUTFT—23 8| 18l 1.21 1.17 156 123 1.27 131 133 1 2
UNEUTFT—23 08| B8 0.84 0.83 15 21 0.73 21 21 1 1
UNEUT—23 08| RIG 0.62 0.70 34 34 1.00 34 34 2 1
DN\EUT—3 8| B 0.99 0.84 42 45 0.94 46 46 2 1
DNEUT—23 08| K79 0.76 0.78 25 30 0.83 31 31 1 1
DN\EVT—23 8| ZEiE 0.91 0.57 18 28 0.64 29 29 2 1
UNEUTF—23 08 | BIRE 1.54 1.44 53 42 1.27 42 42 0 1
DNEUT—23 8| i 1.36 1.35 40 31 1.29 34 36 0 1
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